# Fort Bend County Tabulation Bid 21-084

# Construction of Left Turn Lane on Mason Road at FM 1093 for Fort Bend County Mobility Bond Project No. 17321X

Recommended: Wade Con, LLC \$127,083.00 Funding: Mobility Bonds

Company	Bid Price	Completion Time in Calendar Days
Wade Con, LLC Kingwood, TX	\$127,083.00	45
Conrad Construction Co., Ltd Houston, TX	\$127,677.50	45
Aranda Industries LLC Houstson, TX	\$132,943.00	45
Teamwork Construction Services, Inc.	\$137,562.50	45

Bid Date: 6/1/2021

			'	(1 Toject No. 3007		.,				
					WadeC	on, LLC	Conrad Constr	uction Co., Ltd	Aranda Inc	dustries LLC
Item	Spec.	Item	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures
A. SITE PRE	EPARATION AN	ND EXCAVATION ITEMS								
1	104	Remove Old Concrete (Pavement With	SY	143	\$20.00	\$2,860.00	\$22.50	\$3,217.50	\$10.00	\$1,430.00
	104	Curb, incl full depth sawcut)	31			\$2,800.00	·	73,217.30	·	
2	110	Roadway Excavation	CY	341	\$20.00	\$6,820.00	\$15.00	\$5,115.00	\$30.00	\$10,230.00
3	500	Remove & Relocate Traffic Signs, Mail	EA	4	\$100.00	\$400.00	\$1.00	\$4.00	\$500.00	\$2,000.00
		Boxes, and Roadway Signs				·	·	·	•	. ,
4	501	Tree protection and trimming	LS	1	\$5,000.00	\$5,000.00	\$850.00	\$850.00	\$3,500.00	\$3,500.00
5	562	Preparing Right-Of-Way	LS	1	\$15,000.00	\$15,000.00	\$30,500.00	\$30,500.00	\$4,500.00	\$4,500.00
SUBTOTAL S	SITE PREPARA	TION AND EXCAVATION ITEMS				\$30,080.00		\$39,686.50		\$21,660.00
D DAV/5845	NIT ITENAC									
B. PAVEMEI	360	6" Concrete Pavement (Median Nose)	SY	9	\$100.00	\$900.00	\$75.00	\$675.00	\$252.00	\$2,268.00
7	360	8" Concrete Pavement	SY	684	\$90.00	\$61,560.00	\$88.00	\$60,192.00	\$85.00	\$58,140.00
		Portland Cement Stabilized Subgrade (8"					·	,		
8	433	Depth)	SY	684	\$15.00	\$10,260.00	\$14.00	\$9,576.00	\$20.00	\$13,680.00
9	530	6" Reinforced Concrete Curb	LF	702	\$5.00	\$3,510.00	\$5.00	\$3,510.00	\$25.00	\$17,550.00
10	536	Coloring Concrete Medians (Black)	SY	14	\$10.00	\$140.00	\$20.00	\$280.00	\$10.00	\$140.00
SUBTOTAL	PAVEMENT IT	EMS	<u> </u>			\$76,370.00		\$74,233.00		\$91,778.00
11	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	702	\$3.00	\$2,106.00	\$2.50	\$1,755.00	\$3.00	\$2,106.00
12	660	Reflectorized Pavement Markings Type I (Thermoplastic) Arrow - Furnish & Applied	EA	4	\$200.00	\$800.00	\$225.00	\$900.00	\$500.00	\$2,000.00
13	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word - Furnish & Applied	EA	4	\$200.00	\$800.00	\$225.00	\$900.00	\$500.00	\$2,000.00
14	660	Painted Curb (Yellow)	LF	702	\$4.00	\$2,808.00	\$1.50	\$1,053.00	\$3.00	
15	663	Raised Reflectorized Pavement Markers	E 4							\$2,106.00
		(Type II-C-R)	EA	140	\$10.00	\$1,400.00	\$6.00	\$840.00	\$5.50	\$2,106.00 \$770.00
	SIGNING AND	STRIPING ITEMS	EA	140	\$10.00	\$1,400.00 <b>\$7,914.00</b>	\$6.00	\$840.00 <b>\$5,448.00</b>	\$5.50	
		STRIPING ITEMS  MS	LS	140	<u> </u>	\$7,914.00		,		\$770.00 <b>\$8,982.00</b>
<b>D. TRAFFIC</b>	SIGNING AND	STRIPING ITEMS  MS  Traffic Control Plan			\$10.00	' '	\$6.00	\$5,448.00	\$5.50 \$7,000.00	\$770.00
D. TRAFFIC ( 16 SUBTOTAL 1	CONTROL ITEI 671 TRAFFIC CONT	STRIPING ITEMS  MS  Traffic Control Plan			<u> </u>	<b>\$7,914.00</b> \$10,000.00		\$ <b>5,448.00</b> \$ <b>5,000.00</b>		\$770.00 \$ <b>8,982.00</b> \$7,000.00
D. TRAFFIC ( 16 SUBTOTAL 1	CONTROL ITEI 671 TRAFFIC CONT	MS  Traffic Control Plan  ROL ITEMS			<u> </u>	<b>\$7,914.00</b> \$10,000.00		\$ <b>5,448.00</b> \$ <b>5,000.00</b>		\$770.00 \$ <b>8,982.00</b> \$7,000.00
D. TRAFFIC ( 16 SUBTOTAL 1 E. STORM V	SIGNING AND CONTROL ITEI 671 TRAFFIC CONT	STRIPING ITEMS  MS  Traffic Control Plan  ROL ITEMS  TION PREVENTION ITEMS  Sodding For Erosion Control and	LS	1	\$10,000.00	\$7,914.00 \$10,000.00 \$10,000.00	\$5,000.00	\$5,448.00 \$5,000.00 \$5,000.00	\$7,000.00	\$770.00 \$8,982.00 \$7,000.00 \$7,000.00

Bid Date: 6/1/2021

	WadeCon, I		on, LLC	Conrad Constr	ruction Co., Ltd	Aranda Ind	lustries LLC			
Item	Spec.	ltem	Unit	Unit	Unit	Total in	Unit	Total in	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures	Price	Figures	Price	Figures
20	741	Inlet Protection Barrier (Stage 2, With Fiber Rolls) - Furnish, Install, And Remove	EA	2.0	\$10.00	\$20.00	\$150.00	\$300.00	\$10.00	\$20.00
SUBTOTAL S	SUBTOTAL STORM WATER POLLUTION PREVENTION ITEMS					\$2,719.00		\$3,310.00		\$3,523.00
					WadeC	on, LLC	Conrad Constr	uction Co., Ltd	Aranda Ind	lustries LLC
A. SITE PRE	PARATION AN	D EXCAVATION ITEMS			\$30,080.00		\$39,686.50		\$21,660.00	
B. PAVEME	NT ITEMS				\$76,370.00 \$74,233.00		33.00	\$91,778.00		
B. SIGNING	AND STRIPING	ITEMS			\$7,914.00		\$5,448.00		\$8,982.00	
D. TRAFFIC CONTROL ITEMS		\$10,000.00		\$5,000.00		\$7,000.00				
E. STORM WATER POLLUTION PREVENTION ITEMS			\$2,7	19.00	\$3,310.00		\$3,5	23.00		
TOTAL BID PRICE (SUM OF ITEMS A THROUGH E)			\$127,083.00		\$127,677.50		\$132,943.00			

					Teamwork Constru	uction Services, Inc.
Item	Spec.	Item	Unit	Unit	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures
A. SITE PRE	PARATION AN	D EXCAVATION ITEMS				
1 104	104	Remove Old Concrete (Pavement With	cv	SY 143	\$38.00	\$5,434.00
1	104	Curb, incl full depth sawcut)	31		738.00	\$3,434.00
2	110	Roadway Excavation	CY	341	\$32.00	\$10,912.00
2	500	Remove & Relocate Traffic Signs, Mail	EA	4	\$950.00	¢2,000,00
3	300	Boxes, and Roadway Signs	EA	4	\$950.00	\$3,800.00
4	501	Tree protection and trimming	LS	1	\$5,100.00	\$5,100.00
5	562	Preparing Right-Of-Way	LS	1	\$14,250.00	\$14,250.00
CLIDTOTAL	SITE DDEDADAT	TON AND EVCAVATION ITEMS		-	-	¢30,406,00

SUBTOTAL SITE PREPARATION AND EXCAVATION ITEMS

\$39,496.00

Bid Date: 6/1/2021

#### **B. PAVEMENT ITEMS**

6	360	6" Concrete Pavement (Median Nose)	SY	9	\$75.00	\$675.00
7	360	8" Concrete Pavement	SY	684	\$84.00	\$57,456.00
8	433	Portland Cement Stabilized Subgrade (8" Depth)	SY	684	\$32.00	\$21,888.00
9	530	6" Reinforced Concrete Curb	LF	702	\$10.00	\$7,020.00
10	536	Coloring Concrete Medians (Black)	SY	14	\$36.00	\$504.00

SUBTOTAL PAVEMENT ITEMS \$87,543.00

### **B. SIGNING AND STRIPING ITEMS**

11	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	702	\$1.50	\$1,053.00
12	660	Reflectorized Pavement Markings Type I (Thermoplastic) Arrow - Furnish & Applied	EA	4	\$155.00	\$620.00
13	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word - Furnish & Applied	EA	4	\$175.00	\$700.00
14	660	Painted Curb (Yellow)	LF	702	\$1.50	\$1,053.00
15	663	Raised Reflectorized Pavement Markers (Type II-C-R)	EA	140	\$4.00	\$560.00

SUBTOTAL SIGNING AND STRIPING ITEMS

\$3,986.00

#### D. TRAFFIC CONTROL ITEMS

16	671	Traffic Control Plan	LS	1	\$2,950.00	\$2,950.00
<b>SUBTOTAL T</b>	RAFFIC CONTE	ROL ITEMS				\$2,950.00

## E. STORM WATER POLLUTION PREVENTION ITEMS

17	162	Sodding For Erosion Control and Stabilaztion(Various Widths)	SY	99	\$5.00	\$495.00
18	164	Hydro Mulch Seeding	SY	1,009	\$2.50	\$2,522.50
19	700	Notice of Intent	EA	2	\$225.00	\$450.00

Bid Date: 6/1/2021

					Teamwork Constru	action Services, Inc.
Item	Spec.	ltem	Unit	Unit	Unit	Total in
No.	No.	Description	Measure	Quantity	Price	Figures
20	741	Inlet Protection Barrier (Stage 2, With Fiber Rolls) - Furnish, Install, And Remove	EA	2.0	\$60.00	\$120.00
SUBTOTAL S	TORM WATER	POLLUTION PREVENTION ITEMS				\$3,587.50

	Teamwork Construction Services, Inc.
A. SITE PREPARATION AND EXCAVATION ITEMS	\$39,496.00
B. PAVEMENT ITEMS	\$87,543.00
B. SIGNING AND STRIPING ITEMS	\$3,986.00
D. TRAFFIC CONTROL ITEMS	\$2,950.00
E. STORM WATER POLLUTION PREVENTION ITEMS	\$3,587.50
TOTAL BID PRICE (SUM OF ITEMS A THROUGH E)	\$137,562.50

## Fort Bend County, Texas Invitation for Bid





Construction of Left Turn Lane on Mason Road at FM 1093 for Fort Bend County
Mobility Bond Project No. 17321X
BID 21-084

#### **SUBMIT BIDS TO:**

Fort Bend County Purchasing Department Travis Annex 301 Jackson, Suite 201 Richmond, TX 77469

Note: All correspondence must include the term "Purchasing Department" in address to assist in proper delivery

## SUBMIT NO LATER THAN:

Tuesday, June 1, 2021 2:00 PM (Central)

#### LABEL ENVELOPE:

BID 21-084 Construction of Left Turn Lane

ALL BIDS MUST BE RECEIVED IN AND TIME/DATE STAMPED BY THE PURCHASING OFFICE OF FORT BEND COUNTY ON OR BEFORE THE SPECIFIED TIME/DATE STATED ABOVE.

BIDS RECEIVED AS REQUIRED WILL THEN BE OPENED AND PUBLICLY READ.

BIDS RECEIVED AFTER THE SPECIFIED TIME, WILL BE RETURNED UNOPENED.

Results will not be given by phone.
Results will be provided to bidder in writing after Commissioners Court award.

Requests for information must be in writing and directed to:
Paige McInnis
Assistant Purchasing Agent
Paige.McInnis@fortbendcountytx.gov

## Vendor Responsibilities:

- Download and complete any addendums. (Addendums will be posted on the Fort Bend County website no Later than 48 hours prior to bid opening)
- Submit response in accordance with requirements stated on the cover of this document.
- DO NOT submit responses via email or fax.

Prepared: 04/30/2021 Issued: 05/09/2021

# Contract Sheet Bid 21-084

# THE STATE OF TEXAS COUNTY OF FORT BEND

This memorandum of agreement made a	nd entered into or	the 22nd day of (	Tune .2021.
by and between Fort Bend County in the			
County Judge KP George, by virtue	of an order of	Fort Bend County	Commissioners Court, and
Ladd Center	nan ili kan ka main advali Medili Medili kan ili di senan ili da sana sana sana	(hereinafter designate	ed Contractor).
(company name)			
WITNESSETH:			
The Contractor and the County agree that	the bid and specifi	cations for the Constru	action of Left Turn Lane on
Mason Road at FM 1093 for Fort Bend	County Mobility	Bond Project No. 1732	21X which are hereto attached
and made a part hereof, together with th	is instrument and	the bond (when requ	ired) shall constitute the full
agreement and contract between parties and	for furnishing the	items set out and descri	ibed; the County agrees to pay
the prices stipulated in the accepted bid.			
It is further agreed that this contract shall t	not become binding	g or effective until sign	ed by the parties hereto and a
purchase order authorizing the items desired	I has been issued.		
Executed at Richmond, Texas this 22	day of	June	2021 .
			Fort Bend County, Texas
		1000000	For Delia Country, 20245
	Ву:	CLICO192	County Judge, KP George
	C	ounty Judge KP George	In Journal of the state of the
	Ву:	y j way	Signature of Contractor
	1		organian or Countricion
	Ву:	· · · · · · · · · · · · · · · · · · ·	Drinted Name and Title



# COUNTY PURCHASING AGENT Fort Bend County, Texas

# **Vendor Information**

Jaime Kovar County Purchasing Agent Office (281) 341-8640

Legal Company Name (top line of W9)	Wase Con, LLC	ry fersion for the grave and the definition of the second second plane and the second second second second second	
Business Name (if different from legal name)			And the control of th
Federal ID # or S.S. #	81-4072144	DUNS #	
Type of Business	Corporation/LLC Sole Proprietor/Individual	Partnership LLC Tax Exempt Organization	Age in Business?
Publicly Traded Business	NoYes Ticker Sy	ymbol	,
Remittance Address	1525 Lukevihe Dr S	Suide 115	
City/State/Zip	Kingwas, TX 7733	501 de 115	
Physical Address	Same		
City/State/Zip			-
Phone/Fax Number	Phone: 281 - 346-0853	Fax:	
Contact Person	Jerry Wase		
E-mail	Schome & wad DBE-Disadvantaged Business Enterpr	econ.com	
Check all that apply to the company listed above and provide certification number.	SBE-Small Business Enterprise   HUB -Texas Historically Underutilize   WBE-Women's Business Enterprise	Certification # ed Business Certification #	
	<\$500,000	\$500,000-\$4,999,999	
Company's gross annual receipts	\$5,000,000-\$16,999,999	\$17,000,000-\$22,399,999	
amidai receipts	>\$22,400,000		
NAICs codes (Please enter all that apply)	237 360, 237 550		
Signature of Authorized Representative	ging W	ale	
Printed Name	Jepay wase		
Title	Cure		
Date	6/2/21		

THIS FORM MUST BE SUBMITTED WITH THE SOLICITATION RESPONSE

(Rev. December 2014) Department of the Treasury

## **Request for Taxpayer Identification Number and Certification**

Give Form to the requester. Do not send to the IRS.

-			
	1 Name (as shown on your income tax return). Name is required on this line; do	not leave this line blank.	
ge 2.	2 Business name/disregarded entity name, if different from above		
Print or type Specific Instructions on page	3 Check appropriate box for federal tax classification; check only one of the foll ndividual/sole proprietor or C Corporation S Corporation ingle-member LLC	n Partnership Frust/estate ce ins	Exemptions (codes apply only to ortain entities, not individuals; see structions on page 3):
Print or type Instructions	imited liability company. Enter the tax classification (C=C corporation, S=5  Note. For a single-member LLC that is disregarded, do not check LLC; che the tax classification of the single-member owner.	eck the appropriate box in the line above for	emption from FATCA reporting ode (if any)
Pri	Other (see instructions) ▶	(Ap	plies to accounts maintained outside the U.S.)
- ji	5 Address (number, street, and apt. or suite no.)	Requester's name and	address (optional)
bec	1525 Lakeville Dr Soile 115	1 2	
S	6 City, state, and ZIP code		
See	Kingwad, TX 77339		
	7 List account number(s) here (optional)		
Par	t I Taxpayer Identification Number (TIN)		
Parties and Partie	your TIN in the appropriate box. The TIN provided must match the name	e given on line 1 to avoid Social securi	tv number
	p withholding. For individuals, this is generally your social security num	o given on line i to avoid	
reside	nt alien, sole proprietor, or disregarded entity, see the Part I instruction:	s on page 3. For other	-     -
	s, it is your employer identification number (EIN). If you do not have a n	. •	
	n page 3.	Or Employer ide	ntification number
	If the account is in more than one name, see the instructions for line 1 a	and the chart on page 4 for	Titincation number
guidei	ines on whose number to enter.	81-1	4072144
Par	II Certification		
Under	penalties of perjury, I certify that:		
1. The	e number shown on this form is my correct taxpayer identification numb	per (or I am waiting for a number to be issue	ed to me); and
Se	n not subject to backup withholding because: (a) I am exempt from bac rvice (IRS) that I am subject to backup withholding as a result of a failure longer subject to backup withholding; and		
	m a U.S. citizen or other U.S. person (defined below); and		
	FATCA code(s) entered on this form (if any) indicating that I am exemp	t from FATCA reporting is correct	
	ication instructions. You must cross out item 2 above if you have been		subject to backup withholding
becau interes genera instruc	se you have failed to report all interest and dividends on your tax return st paid, acquisition or abandonment of secured property, cancellation o ally, payments other than interest and dividends, you are not required to ctions on page 3.	. For real estate transactions, item 2 does r f debt, contributions to an individual retirem	not apply. For mortgage nent arrangement (IRA), and
Sign Here		Date ▶ 6/1	121
Gen	eral Instructions	Form 1098 (home mortgage interest), 1098-E (tuition)	student loan interest), 1098-T
Section	references are to the Internal Revenue Code unless otherwise noted.	- Farm 1000 O (assessed date)	

Future developments. Information about developments affecting Form W-9 (such as legislation enacted after we release it) is at www.irs.gov/fw9.

#### Purpose of Form

An individual or entity (Form W-9 requester) who is required to file an information return with the IRS must obtain your correct taxpayer identification number (TIN) which may be your social security number (SSN), individual taxpayer identification number (ITIN), adoption taxpayer identification number (ATIN), or employer identification number (EIN), to report on an information return the amount paid to you, or other amount reportable on an information return. Examples of information returns include, but are not limited to, the following:

- · Form 1099-INT (interest earned or paid)
- Form 1099-DIV (dividends, including those from stocks or mutual funds)
- Form 1099-MISC (various types of income, prizes, awards, or gross proceeds)
- Form 1099-B (stock or mutual fund sales and certain other transactions by brokers)
- Form 1099-S (proceeds from real estate transactions)
- Form 1099-K (merchant card and third party network transactions)

- Form 1099-C (canceled debt)
- Form 1099-A (acquisition or abandonment of secured property)

Use Form W-9 only if you are a U.S. person (including a resident alien), to provide your correct TIN.

If you do not return Form W-9 to the requester with a TIN, you might be subject to backup withholding. See What is backup withholding? on page 2.

By signing the filled-out form, you:

- 1. Certify that the TIN you are giving is correct (or you are waiting for a number to be issued).
- 2. Certify that you are not subject to backup withholding, or
- 3. Claim exemption from backup withholding if you are a U.S. exempt payee. If applicable, you are also certifying that as a U.S. person, your allocable share of any partnership income from a U.S. trade or business is not subject to the withholding tax on foreign partners' share of effectively connected income, and
- 4. Certify that FATCA code(s) entered on this form (if any) indicating that you are exempt from the FATCA reporting, is correct. See What is FATCA reporting? on page 2 for further information.

Job No.: 17321X

# TAX FORM/DEBT/ RESIDENCE CERTIFICATION

(for Advertised Projects)

Taxpayer Identification Number (T.I.N.): 81-4072 144
Company Name submitting Bid/Proposal: Wall Con 1111
Mailing Address: 1525 Lakeville Dr Soite 115 Kingwed, 77 77339
Are you registered to do business in the State of Texas? Yes No
If you are an individual, list the names and addresses of any partnership of which you are a general partner or any assumed name(s) under which you operate your business
I. Property: List all taxable property in Fort Bend County owned by you or above partnerships as well as any d/b/a names. Include real and personal property as well as mineral interest accounts. (Use a second sheet of paper if necessary.)
Fort Bend County Tax Acct. No.*  Property address or location**
* This is the property account identification number assigned by the Fort Bend County Appraisal District.  ** For real property, specify the property address or legal description. For business personal property, specify the address where the property is located. For example, office equipment will normally be at your office, but inventor may be stored at a warehouse or other location.
II. Fort Bend County Debt - Do you owe any debts to Fort Bend County (taxes on properties listed in I above, tickets, fines, tolls, court judgments, etc.)?
Yes No If yes, attach a separate page explaining the debt.
III. Residence Certification - Pursuant to Texas Government Code §2252.001 et seq., as amended, Fort Bend Count requests Residence Certification. §2252.001 et seq. of the Government Code provides some restrictions on the awarding of governmental contracts; pertinent provisions of §2252.001 are stated below:
(3) "Nonresident bidder" refers to a person who is not a resident.
(4) "Resident bidder" refers to a person whose principal place of business is in this state, including a contractor whose ultimate parent company or majority owner has its principal place of business in this state.
I certify that Walecon, LLC is a Resident Bidder of Texas as defined in Government Code [Company Name] §2252.001.
I certify that is a Nonresident Bidder as defined in Government Code  [Company Name]  §2252.001 and our principal place of business is
§2252.001 and our principal place of business is  [City and State]



## Contractor Acknowledgement of Storm Water Management Program

I hereby acknowledge that I am aware of the stormwater management program and standard operating procedures developed by Fort Bend County in compliance with the TPDES General Permit No. TXR040000. I agree to comply with all applicable best management practices and standard operating procedures while conducting my services for Fort Bend County. I agree to conduct all services in a manner that does not introduce illicit discharges of pollutants to streets, stormwater inlets, drainage ditches or any portion of the drainage system. The following materials and/or pollutant sources must not be discharged to the drainage system as a result of any services provided:

- 1. Grass clippings, leaves, mulch, rocks, sand, dirt or other waste materials resulting from landscaping activities, (except those materials resulting from ditch mowing or maintenance activities)
- 2. Herbicides, pesticides and/or fertilizers, (except those intended for aquatic use)
- 3. Detergents, fuels, solvents, oils and/or lubricants, other equipment and/or vehicle fluids,
- 4. Other hazardous materials including paints, thinners, chemicals or related waste materials,
- 5. Uncontrolled dewatering discharges, equipment and/or vehicle wash waters,
- 6. Sanitary waste, trash, debris, or other waste products
- 7. Wastewater from wet saw machinery,

Title

8. Other pollutants that degrade water quality or pose a threat to human health or the environment.

Furthermore, I agree to notify Fort Bend County immediately of any issue caused by or identified by:

(Company/Contractor)

that is believed to be an immediate threat to human health or the environment.

Contractor Signature

Date

Terry Wade

Printed Name

Owner

# Jerry L. Wade, Jr.

3208 North Woodstream Way Kingwood, TX 77345 281-359-4361 Mobile 713-248-7971

## Summary of Experience

Over Forty years of broad construction management experience with emphasis on commercial and heavy civil projects. Specialized in the supervision of all phases of construction activities and the coordination of support activities and personnel to achieve client satisfaction. Knowledgeable in estimating cost control, engineering, interface, construction techniques, scheduling, equipment, craft supervision and job site safety.

# Project Types

Civil construction of all types. Bridges and roadways. Large commercial sites. Docks and seawalls, heavy construction, concrete structures, underground utilities and lift stations.

# **Activities**

Project management, estimating, cost control, manpower planning, equipment utilization, scheduling, craft supervision, safety, carpentry, iron working, operator, client relations.

## **Employment History**

WadeCon, LLC, Managing Partner	2016	- Present
Menade, Inc., President	1999	- Present
Stabilized Materials Company, Vice-President	1994	- 1998
Wade Regas Contracting, Inc., President	1988	- 1994
Bayou Contracting, Inc., Vice-President	1981	- 1988
Continental Constructors, Inc., Superintendent	1978	- 1981
T.P. Groome Contracting Co., Superintendent	1976	- 1978
Bawden Drilling Co., Foreman	1975	- 1976
Various Construction Companies	1968	- 1975
(List of completed projects and references provided upon	on request)	

## **Personal Data**

University of Southern Mississippi, Hinds Junior College, St. Petersburg

Junior College: Three years, Building Construction Management

Graduated from High School in 1972

Born: February 28, 1954, Jackson, Mississippi

Married, 4 Children

Church, Second Baptist Church, Kingwood, Texas

# **Detailed Professional Experience**

WadeCon, LLC.

Managing Partner

Responsible for daily field operations and management for all construction projects.

Menade, Inc.

1999 - present

President

Responsible for daily field operations and management for all construction projects.

Stabilized Materials Company

1994 - 1998

Vice-President

Responsible for daily field operations and management for all construction projects.

Wade Regas Contracting, Inc.

1988 - 1994

President

Responsible for the general management of the entire company.

The scope of work performed at all of these locations were directly related to performing underground utilities, paving, dirt work, clearing and bridge construction of all types ranging in price from \$100,000.00 to \$18,000,000.00.

# Completed Projects with References

Project:	Construction of East Mount Houston	100% Complete
Owner:	Harris County	\$17,000,000
Contact:	Julia Bond, P.E.	281-755-6522
Scope:	100,000 SY of 10" paving, storm sewer, linear detention ponds and widen two bridges.	
and the same of th	The state of the s	The state of the s
Project:	Construction of Barker Cypress	100% Complete
Owner:	Harris County	\$1,500,000
Contact:	Lee Shelton, P.E.	713-806-0813
Scope:	Widen Barker Cypress and signal modification	SS
Project:	Construction of Hufsmith Kohrville Rd	100% Complete
Owner:	Harris County	\$6,800,000
Contact:	Henry Quiroga, P.E.	281-224-6305
Scope:	Replace two lane asphalt roadway with four lane concrete boulevard, storm sewer and box beam bridge.	
Project:	Main Street Kingwood Off Site Utilities	100% Complete
Engineer:	Jacobs Engineering	\$1,600,000
Contact:	Nathan Robert, P.E.	281-776-2132
Scope:	Installation of water, sanitary, storm and roady	way paving.
Project:	Jesse Jones Hike and Bike	100% Complete
Owner:	Harris County	\$1,300,000
Contact:	Henry Quiroga, P.E. 281-224-6305	
Scope:	Asphalt and concrete hike and bike trails. Two span pedestrian box beam bridge.	
i pë laquerimin karegjirën quelquicin Plantika den vers anteri	Rankin Road Clearing	100% Complete
Project:		
Project: Owner:	J.M. Texas Land Fund No. 2	\$400,000
i <del>nama dala mana aga mpanda kabungan kanapata k</del>	J.M. Texas Land Fund No. 2 Will De young	\$400,000 713-535-2244

	Current Projects	
n	Park Westheimer at Peek Road	
Project:	Paving	99% Complete
Owner:	Fort Bend County MUD No. 50	\$776,000
Contact:	Mike Richardson, P.E.	281-389-6831
	RGMiller Engineers	mrichardson@rgmiller.com
Scope:	Concrete Paving	
Project:	Memorial Trails	99% Complete
Owner:	Memorial MUD	\$540,000
Contact:	Louis Brown, P.E.	713-783-7788
	Costello Engineers	lbrown@costelloinc.com
Scope:	Concrete walking trail and pedestriar	n bridge
Project:	Covington Woods and 7th Street	000/ Complete
1 Tojeci.	Paving and Drainage Repairs	99% Complete
Owner:	City of Sugar Land	\$3,421,000
Contact:	Jorge L. Alba	281-275-2275
	City Engineer	jalba@sugarlandtx.gov
Scope:	WS&D and paving improvements	
	PRODUCTION OF THE PRODUCTION O	
Project:	Madera Run	45% Complete
Owner:	Harris County	\$3,750,000
Contact:	Jeremy Staggs	740-777-0340
	Harris County PM	Jeremy.Staggs@eng.hctx.net
Scope:	Tie into existing storm sewer, 10" co	ncrete paving, bridge and MSE Wall
Project:	Birch Road Pipe Bridge	70% Complete
1 rojeci.	Harris County Improvement District	
Owner:	No. 23	\$90,000
Contact:	Les Dodson	713-450-4629
	LJA Engineers	ldodson@lja.com
Scope:	Single span box beam pipe bridge	
Project:	Bay Area Blvd at Morgans Landing	99% Complete
Owner:	Harris County MUD No. 516	\$1,018,000
THE RESIDENCE AND PARTY OF THE PERSON OF THE	111111111111111111111111111111111111111	1 41,010,000

Contact:	Glen Crocker	713-462-3242
	Cobb, Fendley & Associates, Inc.	GCrocker@cobbfendley.com
Scope:	8x6 RCB, 42" RCP, Headwalls and 8	3" Concrete Paving
Project:	Park Place Paving	65% Complete
Owner:	Gulf Gate Redevelopment Authority	\$4,526,000
Contact:	Rick Butler	713-266-6900
	LAN Engineers	RLButler@lan-inc.com
Scope:	Remove and replace asphalt roadway	, sidewalks and driveways
Project:	Calvary Road and Shepard Hill Bridges	95% Complete
Owner:	Montgomery County	\$1,369,000
Contact:	John Holzwarth	713-705-5410
	Montgomery Co. Inspector	johnholzwarth@cs.com
Scope:	Replace two 80 foot single span bridge	ges
Project:	Settlers Park Paving and Drainage	50% Complete
Owner:	City of Sugar Land	\$4,908,000
Contact:	Ross Woodfin	281-275-2357
	Sugar Land Sr. Project Manager	rwoodfin@sugarlandtx.gov
Scope:	Drainage and Paving	
Project:	Watershed Repairs, Phase 5	10% Complete
Owner:	Fort Bend County Drainage District	\$11,500,000
Contact:	Adam Wright	281-342-0141
	Fort Bend County Drainage District	Adam.Wright@fortbendcountytx.gov
Scope:	Buffalo Bayou watershed bank stabil	ization using sheet pile
Project:	Mount Mariah and Bays Chapel Box Culverts	95% Complete
Owner:	Montgomery County	\$595,000
Contact:	Mike Beitler	936-539-7815
	County Engineer	mike.beitler@mctx.org
Scope:	Replace box culverts and asphalt pay	ving

	Completed Projects	
Project:	Headwall at Lateral 10	Complete 3/15/2017
Owner:	Gulf Coast Water Authority	\$300,000.00
Contact:	James Vanderwater	281-687-7270
Scope:	Construct two cast in place check structures headwall with handrail at Lateral 10	s across two different canals and one
Project:	Safe Routes to School Package J	Complete 6/1/2017
Owner:	Harris County	\$350,000
Contact:	Gary Howard	281-414-5151
Scope:	Sidewalks, retaining walls, ramps and stripi	ng
Project:	CenterPoint Hike & Bike	Complete 6/25/2017
Owner:	Westchase District	\$400,000.0
	Rick Butler	713-266-6900
Contact:	LAN Engineers	
Scope:	Concrete hike and bike trail along CenterPo	oint right of way
Project:	West Rd at Queenston Bridge	Complete 6/15/2017
GC:	Select Earth, LLC	\$1,600,00
Contact:	Nick Liberatore	832-493-4575
Scope:		
Project:	Pearland Pkwy at FM 518 Turn Lane	Complete 8/3/2017
Owner:	City of Pearland	\$275,000.0
Contact:	Jaime Dino	281-652-1747
Scope:	Turn lane and signalization	
Project:	Channel Outfall Rehabilatation	Complete 10/15/2017
Owner:	FBCLID No. 10	\$400,000.0
	Gary Goessler, P.E.	281-558-8700
Contact:	BGE, Inc.	
Scope:	Demuck channel, install riprap and replace	slope paving

Project:	Holderrieth at Hufsmith-Kohrville	Complete 2/1/18
Owner:	Harris County	\$650,000
Contact:	Nate Anthony	281-830-4371
Scope:	Intersection paying and signalization impro	ovements
Project;	Gulf Bank at Sweetwater Drainage	Complete 3/1/18
Owner:	Harris County	\$1,600,000
Contact:	Julia Bond	281-309-4491
Scope:	Drainage improvements to include 8x3, 5x lining. Sanitary and water relocations, turn	2 and 4x3 RCB with headwalls and channel lanes and signal modifications.
Project:	Sienna Christus at SH 6	Complete 2/1/18
Owner:	Sienna Management District	\$200,000.00
Contact:	Jesse Pasquarelli, EIT	713-380-4417
	LJA Engineers	
Scope:	Driveway and turn lane with signalization	
Project:	Clay Rd Bridge	Complete 3/1/18
Owner:	Harris County	
Contact:	Lee Shelton	713-806-0813
	HC Engineer	
Scope:	Widen Clay Road Bridge at Barker Cypre	SS
Project:	Spring Creek Greenway Segment III-C	Complete August 2018
Owner:	Harris County	\$2,100,000.00
Contact:	Jim Loo, P.E.	281-274-3874
	HC Engineer	
Scope:	Hike and bike trails, pedestrian bridge and	I retaining walls
Project:	WestPark Trails	Complete 7/31/18
Owner;	Westchase District	\$600,000.00
Contact:	Rick Butler	713-226-6900

	LAN Engineers		
Scope:	Hike and bike trails, sidewalks and drainage alo	ong Westpark, Wilcrest, S. Gessner and	
Project:	Sanitary and Paving to Serve 5.47 Acre Tract	Complete 11/15/18	
Owner:	Galveston Co. MUD No. 54	\$200,000.0	
Contact:	Gary Goessler, P.E.	713-488-8292	
	BGE, Inc.		
Scope:	Sanitary Sewer and Turn Lane		
Project:	Independence Blvd / Court Road	Complete 11/15/18	
Owner:	City of Missouri City		
Contact:	Randy Bowles, P.E.	\$400,000.0 713-953-5034	
contact.			
Scope:	LJA Engineers Installation of 8x8 RCB and paving	rbowles@lja.com	
See July 2	instantation of oxo Reb and paying		
Project:	Mason at Franz Improvements	Complete 11/1/18	
Owner:	Harris County	\$800,000.0	
Contact:	Jennifer Almonte, P.E.	202-805-0216	
	HC Engineer	jennifer.almonte@eng.hctx.net	
Scope:	Concrete paving and signals		
Project:	Cypress Forest Park Drainage	Complete 10/15/18	
Owner:	Cypress Forest PUD	\$375,00	
Contact:	Nabil Joubran, P.E.	281-293-0856	
	PEPE Engineering	njoubran@pepe-engineering.com	
Scope:	Replacement of outfalls and drainage repairs w		
Project:	Madison Bend Clearing	Complete 8/1/18	
Owner:	Montgomery Co. MUD 132	\$300,00	
Contact:	Kara Morrison	713-784-4500	
	EHRA Engineers	kmorrison@ehrainc.com	
Scope:	Clear and grub 76 acres and drainage swales		
Dugiasti	Canada Canadaina	Complete Lee 2010	
Project:	Grace Crossing	Complete Jan 2019	
Owner:	City of Conroe	\$400,000.0	
Contact:	Tara Gaha, P.E.	936-522-3133	
Scope:	City Engineer Drainage and Paving	tgaha@cityofconroe.org	
Maria Maria Maria	Dramage and Laving	T	
Project:	Reading Road	Complete May 2019	
Owner:	City of Rosenberg	\$2,000,00	
Contact:	Sonia Cantu	713-520-9570	
	Dannenbaum Engineers	sonia.cantu@dannenbaum.com	
Scope:	Widening Reading Road to include Installation	of 6x4 and 6x2 RCB storm sewer	

Project:	Porter Road	Complete Aug 2019		
Owner:	Harris County	\$1,700,000		
Contact:	Ron Campbell	713-488-8292		
	Chief Inspector	Ron.Campbell@eng.hctx.net		
Scope:	Storm sewer and paving			
Project:	Barker Cypress at Tuckerton Turn Lanes	Complete Aug 2019		
Owner:	HCMUD No. 500	200000		
Contact:	Kara Morrison	713-784-4500		
	EHRA Engineers	kmorrison@ehrainc.com		
Scope:	Two turn lanes and signalization			
Droiset	Barwood and Tower Oaks Drainage	Complete March 2020		
Project:	Improvements			
Owner:	Harris County	\$1,400,000		
Contact:	Jennifer Almonte, P.E.	202-805-0216		
	HC Engineer	jennifer.almonte@eng.hctx.net		
Scope:	Regrading ditches, replacing culverts and dri	veways, 48" and 72" trunk lines and		
Project:	Cinco SW Ditch Repairs	Complete Nov 2019		
Owner:	Cinco SW MUD	\$730,000		
Contact:	Gary Goessler, P.E.	281-558-8700		
	BGE, Inc.	GGoessler@bgeinc.com		
Scope:	Regrade ditch and install channel lining with flagstone veneer			
Project:	Walking Trails, Phase I	Complete Feb 2020		
Owner:	Harris County MUD No. 180	\$900,000		
Contact:	Jack Flores, P.E.	713-942-2726		
(MICHOLO - A A MICHAEL AND A A A A A A A A A A A A A A A A A A	A&S Engineers	jrf@as-engineers.com		
Scope:	Honcrete and granite hike and bike trails wi	ith two pedestrian bridges		
Project:	Greens Bayou Slope Repairs	Complete Nov 2019		
Owner:	HCFCD	\$400,000.00		
Contact:	Dotun Ogundare	713-825-2888		
	LSA Engineers	dogundare@lsa-engineers.com		
Scope:	Channel repairs to Greens Bayou			
CONTROL PROPERTY.				
Project:	Memorial MUD Trails	Complete May 2020		
Owner:	Memorial MUD	\$515,000.0		
Contact:	Ralph Saldana, P.E.	713-783-7788		
MANAGEMENT OF THE PROPERTY OF	Costello Engineers	rsaldana@costelloinc.com		
Scope:	Concrete hike and bike trails, landscaping, li	ights and pedestrian bridge		
Project:	Firehouse Road	Complete Oct 2019		

Owner:	Montgomery County	\$672,000.00
Contact:	John Holzwarth	713-705-5410
TOWNS OF STREET, STREE	Montgomery Co. Inspector	johnholzwarth@cs.com
Scope:	Concrete and asphalt paving	
Dualant	CD 50 Daving and Dusinger	Complete April 2020
Project:	CR 59 Paving and Drainage	Complete April 2020 \$409,000.00
Owner:	Perry Homes	713-953-5017
Contact:	Everett Deao, P.E.	10010
·	LJA Engineers	edeao@lja.com
Scope:	24"-66" RCP, concrete and asphalt paving	
Project:	CR 193 at Camp Mohawk	Complete Aug 2019
Owner:	Brazoria County	\$314,000
Contact:	Bryan Roberts	979-705-1500
	Raba Kistner	broberts@rkci.com
Scope:	3x3 RCB and asphalt paving	
Project:	Harvey Repairs and Slope Stabilization	Complete Nov 2019
Owner:	Brookshire-Katy Drainage District	\$3,200,000
Contact:	Charles Kalkomey, P.E.	281-762-6533
	Jones & Carter	CKalkomey@jonescarter.com
Scope:	Ditch regrading and slope stabilization with gabions and erosion mats	
many and a very more and a second		
Project:	Holly Street Drainage and Paving	Complete Nov 2019
Owner:	City of Liberty	\$896,000
Contact:	Damon Jones	409-659-9582
	Director of Public Works	djones@cityofliberty.org
Scope:	5x4 RCB, sanitary and water lines, concrete an	THE RESIDENCE OF THE PROPERTY
www.		Control of the Contro
Project:	Meandering Bend Bridge	Complete Feb 2020
Owner:	Montgomery County MUD No. 119	\$971,000
Contact:	David Doran, P.E.	832-823-2204
	Manhard Engineers	ddoran@manhard.com
Scope:	120 ft two span box beam bridge, 42" RCP, ch	The state of the s
осорс.		K
Project:	East River Drainage	Complete May 2020
Owner:	Harris County Improvement District No. 23	\$1,271,000
Contact:	Gary Goessler, P.E.	281-558-8700
The state of the s	BGE, Inc.	GGoessler@bgeinc.com
Scope:	Drainage and Paving	
•	he no comme	Ia
Project:	Mason Road at 99 Turn Lane	Complete May 2020
Owner:	Fort Bend County	\$309,000
Contact:	George Abraham	832-243-1475
~	AIG Engineering	george.abraham@aigtechnical.com

Scope:	Turn lane and signalization		
Project:	Grogans Mill Turn Lane at Research Forest	Complete July 2020	
Owner:	Montgomery County		\$169,000
Contact:	Jeff Johnson		
	Inspector	Jeff.Johnson@mctx.org	
Scope:	Extend drainage and install right turn lane		

WadeCon, LLC		1		1
Fixed Asset Schedule		1		
	· · · · · · · · · · · · · · · · · · ·	İ	1	
The second secon	The state of the s	[	1	
The state of the s	The second secon			
and the control of the state of				1
		i	1	
en conservation (1970 - 1971 -				
The second secon				
20' Trailer	Water Truck		1	,
ngersoll-Rand PF840 Asphalt Paver	4.000 FT Barriers	1		
14ft Dump Trailer	2012 Tiger Utility Trailer	l	1	]
Case Excavator CX330	Hyundai R480LC-9 Excavator	h		T
Case CX50B	Hyundai 757 TM-7A Wheel Loader		1	
Case Model 621DC Wheel Loader	Caterpillar SS-250 Soil Stabilizer		1	
Bidwell Screed 484	Komatsu PC200LC-7 Excavator	T	1	
Case DV202 Double Drum Roller	2006 Ther Four Winds 30 Foot Travel Trailer	[	1	1
Caterpillar Excavator 308DCR S/N	Dynapac Model CA 150PD Compactor,			1
Caterpillar Excavator 3330DL S/N	New Holland 555E 4x4 Loader Backhoe	i		İ
JD 210LE Loader	36' Trailer 2013 American	t "	1	i
Hyster Compactor	TT Technologies 10 Ton Winch,	1		
Stone AVR 4000 Tandem Roller	375 CFM Ingersol Rand Air Compressor	1	į	
Volvo Water Truck	7" Slot Nosed Reversible Hammer			-
1000LF 7" X 6" 10' x 3/16" Flip Flop Forms	T618 McElroy Fusing Machine	1		
CAT 12G Motor Grader	750CFM Ingersol Rand Air Compressor	1	ŀ	
Johne DeereBackhoe/Loader	Case Mini Excavator, CX55B,	1		
CAT D&R XW Dozer	Case Excavator, CX80, w /48" Cleanout	f	1.	
10 Backhoe W/Breaker	Case Crawler Dozers 650L	•	•	
30 Hyundai Excavator	Hammer for Pipe Bursting	]	1	ì
Raygo Gator Mixex	Speed Shore 8' x 8' Trench Boxes			]
THE RESERVE OF THE PARTY OF THE	THE TAX TO THE TAX TO THE TAX TO THE TAX THE TAX TO THE TAX THE TAX TO THE TAX THE TAX TO THE TAX THE	1		1
- NA 1537 - Al 1 ACEPTA Companing a figure page for an injurious quantum and address and a label as a second and a label as a label	A CONTRACTOR OF THE PROPERTY O	<b>*</b>		-
State and the state of the stat	the second secon		1	1

A. SITE PREPARATION AND EXCAVATION ITEMS

Item	Spec.	Item	Unit	Unit	Unit	Total in Figures
No.	No.	Description	Measure	Quantity	Price	
1	104	Remove Old Concrete (Pavement With Curb, incl full depth sawcut)	SY	143	\$ 20 00	\$ 2.860 00.
2	110	Roadway Excavation	CY	341	\$ 20 -4	\$ 6,820 =-
3	500	Remove & Relocate Traffic Signs, Mail Boxes, and Roadway Signs	EA	4	\$ 100 -00	\$ 400 %
4	501	Tree protection and trimming	LS	1	\$ 5,000-9	\$ 5,000 = -
5	562	Preparing Right-Of-Way	LS	1	\$ 15,000 =	\$ 15,000 = -
BTOTAL	SITE PREF	PARATION AND EXCAVATION ITEMS				30,080 5

**B. PAVEMENT ITEMS** 

Item	Spec.	ltem	Unit	Unit	Unit		Total in Figures		
No.	No.	Description	Measure	Quantity		Price			
6	360	6" Concrete Pavement (Median Nose)	SY	9	\$	100	a	\$	900 5 .
7	360	8" Concrete Pavement	SY	684	\$	90	- =	\$	61,560 3
8	433	Portland Cement Stabilized Sand Subgrade (8" Depth)	SY	684	\$	15	50	\$	10,260 3
9	530	6" Reinforced Concrete Curb	LF	702	\$	5	ce	\$	3,51000
10	536	Coloring Concrete Medians (Black)	SY	14	\$	10	02	\$	14000
UBTOTAL	PAVEME	NT ITEMS							76,37000

B. SIGNING AND STRIPING ITEMS

	·	PING HEWS	U-is	Unit	Unit	Total in		
Item	Spec.	Item	Unit	Unit				
No.	No.	Description	Measure	Quantity	Price	Figures		
11	660	Reflectorized Pavement Markings Type I (Thermoplastic) 8" White/Solid - Furnish & Applied	LF	702	\$ 3 &	\$ 2,106 5.		
12	660	Reflectorized Pavement Markings Type I (Thermoplastic) Arrow - Furnish & Applied	EA	4	\$ 200 %	\$ 800 9.		
13	660	Reflectorized Pavement Markings Type I (Thermoplastic) Word - Furnish & Applied	EA	4	\$ 200 3	\$ 800 \$.		
14	660	Painted Curb (Yellow)	LF	702	\$ 4 %	5 2,808 cm		
15	663	Raised Reflectorized Pavement Markers (Type II-C-R)	EA	140	\$ 10 00	\$ 1,400 %.		
SUBTOTAL	LSIGNING	AND STRIPING ITEMS				7,91400		

D. TRAFFIC CONTROL ITEMS

Item	Spec.	Item	Unit	Unit	Unit	Total in Figures
No.	No.	Description	Measure	Quantity	Price	
16	671	Traffic Control Plan	LS	1	\$ 10,000-8	\$ 10,000 -
LIBTOTAL	TRAFFIC C	ONTROLITEMS				

E. STORM WATER POLLUTION PREVENTION ITEMS

Item No.	Spec. No.	ltem Description	Unit Measure	Unit Quantity	Unit Price	Total in Figures
17	162	Sodding For Erosion Control and Stabilaztion(Various Widths)	SY	99	\$ 10 %.	\$ 9900 -
18	164	Hydro Mulch Seeding	SY	1,009	\$ 100 -	\$ 1,009 8 -
19	700	Notice of Intent	EA	2	\$ 350 %-	\$ 700 %
20	741	Inlet Protection Barrier (Stage 2, With Fiber Rolls) - Furnish, Install, And Remove	EA	2	\$ 10 00-	\$ 20 00 -
IBTOTAL	STORM W	VATER POLLUTION PREVENTION ITEMS			<u> </u>	2,719 00

TOTAL BID PRICE (ITEM A THROUGH ITEM E)

# **CERTIFICATE OF INTERESTED PARTIES**

FORM **1295** 

1 of 1

					1011			
	Complete Nos. 1 - 4 and 6 if there are interested parties.  Complete Nos. 1, 2, 3, 5, and 6 if there are no interested parties.		CE	OFFICE USE				
1	Name of business entity filing form, and the city, state and count	try of the business entity's place	Certificate Number:					
	of business.		2021	1-758534				
	WadeCon, LLC Kingwood, TX United States		Date	Filed:				
2	Name of governmental entity or state agency that is a party to th	05/27/2021						
_	being filed.	ed.						
	Fort Bend County	County						
3	Provide the identification number used by the governmental enti description of the services, goods, or other property to be provided in the control of the services.		y the c	ontract, and prov	vide a			
	17321X							
	Construction of Left Turn Lane on Mason Road at FM 1093							
4				Nature of				
	Name of Interested Party	City, State, Country (place of busin	ness)	(check ap				
				Controlling	Intermediary			
5	Check only if there is NO Interested Party.							
6	UNSWORN DECLARATION							
	My name is	, and my date of	birth is	S	·			
	My address is(street)	(city) (s	state)	(zip code)	(country)			
	I declare under penalty of perjury that the foregoing is true and correc	et.						
				day of	20			
	Executed inCounty	y, State of, on the		(month)	, 20 (year)			
		Signature of authorized agent of cor (Declarant)	ntractin	g business entity				